emoc i EFCELmew
ey Buo
@dyell cool o8xlews - (Seds) - 0ndm Oad
eseftdnd gboum uifems - vl cuedudnda - 2017/2018
DMG 3148: adcmo gnem

g nmod (03) sLeam 88nd svwsisy. e o oqmi (02)
oo iy win me vBe.
208 ydm oyw g vwBs? (05) sw 8Y eqBss (02) uesibm ob.

l. doowvmem mED odcon pdhammbsi glneme B0e®2 wiem mmwes? wdn BSe®
Oreodm® s BE mosis.
(e 20)

2. q) “edcmbe emedd Acum wdm glveme BBl oH8d decEed (Devis and Blake)
2dEm 2nded wedmsl odsiomdded (Bongaarts) edcem aimafic DO ewlon @0.”

&® Bue®» v 8 wosi>.
(cne 12)

@) “wecm gsened? uHdons@nm dm vl eI e @idn @wdn emedd ¢,
Doz @@ A5® Dieow ob”. 088 Budm el grmadiw agdzy SSesim.

(caw 08)

3. cOm dmovmenm etEm v B3O O emedd g SeunxlOm o8y ww eidm dmOE A ®

CQUig 8D bt mTTID.
(cmm 20)

4, g) wodcm glvemnedd emwded wdemr ¢Sam (Coale’s Fertility Indices) BSedemamd
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(Coale’s Fertility Indices) wesme mosTs.
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15-19 98,695 8,213 0.300
20-24 90,522 50,560 0.550
25-29 80,293 75,422 0.502
30-34 74,362 70,213 0.447
35-39 76,995 65,302 0.406
40-44 72,312 69,413 0.222
45-49 70,591 62,377 0.061
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uB0eden Eow cwesmd (1000)
i 2 3 4 5 6-9 10+
0 195 32 1 0 0 0 0
1 253 210 56 20 4 0 0
2 96 165 142 78 32 12 0
3 3 42 56 53 35 31 1
4 2 22 14 19 7 36 1
5 1 2 3 2 2 8 1
6+ 0 0 0 0 1 0 1
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Answer three (03) questions only. | Time: Two (02) hours
Calculators can be used.
This paper contains five (05) questions and two (02) pages.

1. Explain the importance of using fertility. theories when studying contemporary fertility

changes in a population.
{20 Marks)

2. a) “Bongaarts model of fertility is comparatively more suitable than the fertility model of
Davis and Blake when studying factors affecting on fertility”. Examine this statement.
(12 Marks)

b) “In fertility studies, it is important to focus on socio economic factors as well as the
demographic factors.” Examine this statement using a fertility model.

(08 Marks)

3. Discuss the impact of demographic, social and economic factors on fertility behaviour of a
country citing examples.

(20 Marks)

4. a) Briefly explain the importance of decomposition of Coale’s Fertility Indices in fertility

Studies.
_ (05 Marks)
b) Data related to the country ‘X’ in 2015 is given in the following table. In Addition, Age

Specific Fertility Rates of the Hutterite population also given. Usmg these data, calculate
the following Coale’s Fertility Indices.

Age group Female Married female Age Specific Fertility
population population Rates of the Hutterite
population
15-19 98,695 8,213 0.300
20-24 90,522 50,560 0.550
25-29 80,293 75,422 0.502
30-34 74,362 70,213 0.447
35-39 76,995 65,302 0.406
40-44 72,312 69,413 0.222
45-4% 70,591 62,377 0.061

Legitimate births = 60,188
Illegitimate births = 7,013



i. Comparative Index of General Fertility (Ir)
ii. Comparative Index of Legitimate Fértility (1)
iti. Comparative Index of Illegitimate Fertil;ty (In)
iv. Comparative Index of Proportion Married (Im)
- (03x4 = 12 Marks)

¢) Discuss your results

(03 Marks)
5. a) Briefly explain the concept of ‘Parity’ as a factor that ‘affect fertility decision.
(04 Marks)
b) If you calculate Parity Progression Ratio for Sri Lanka, name required data and the sources
of that data.
: (04 Marks)
c¢) Calculate the Parity Progression Ratio using the following data.
(12 Marks)
Duration of Number of births in 1956 by Birth order
Marriage (1000 marriages)
1 2 3 4 5 6-9 0+
0 195 32 1 0 0 0 0
I 253 210 56 20 4 0 0
2 96 165 142 78 32 12 0
3 31 42 56 53 35 31 1
4 2 22 14 19 7 36 1
5 1 2 3 2 2 8 |
6+ 0 0 0 0 1 0 1




